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A + SEAAH + Iz

RIS AL HI & A

o £ 8w = X =
20k 22 - HE . Ol - fRAY Tl Z Attt ISR g =
E | 2020 2021 2022 2023 2024
p] 2,324,311 182,810] 2,140,851 422,099 423,931 426,803 433,145| 434,873 650
o 2| 2,109,221 127,734 1,980,837| 386,047 393,660| 396,279 399, 181 405,661 650
T 2 215,090 55,076 160,014 36,052 30,262 30,524 33,964 29,212 0
20=x2| 1,196,764 10,579| 1,186,185 233,445 234,986 237,762 239,202| 240,790 0
2swzxa 68,052 25,585 42,467 11,057 11,837 8,623 5,450 5,500 0
SR

IENEE 27,365 5,000 22,365 3,873 4,873 3,873 4,873 4,873 0
A Sl 543,727 62,049 481,678 92,935 91,845 95,742 100,062 101,094 0
Al 2 2 bl 480,403 71,597 408, 156 80,789 80,390 80,803 83,558 82,616 650
Ao 8,000 8,000 0 0 0 0 0 0 0
(a1 % £) 794 0 794 794 0 0 0 0 0
LU DU 170,288 77,182 93,106 33,220 23,952 19,935 10,784 5,215 0
JEERSPRE] 4,900 0 4,900 980 980 980 980 980 0
Ngols 2 4,900 0 4,900 980 980 980 980 980 0




ANES 4,900 0 4,900 980 980 980 980 980
Al 4,900 0 4,900 980 980 980 980 980

oFyes XA ] 2 4,900 0 4,900 980 980 980 980 980

Al 2 2ol 4,900 0 4,900 980 980 980 980 980

UL N 165,388 77,182 88,206 32,240 22,972 18,955 9,804 4,235
YA A3l 30,395 2,479 27,916 7,522 7,111 7,113 3,085 3,085
XNAsH A 13,025 0 13,025 2,605 2,605 2,605 2,605 2,605
H 2,025 0 2,025 405 405 405 405 405

ZAAD| EE ] 2 2,025 0 2,025 405 405 405 405 405
NI | 2,025 0 2,025 405 405 405 405 405

A 11,000 0 11,000 2,200 2,200 2,200 2,200 2,200

HA=X M 2¢ <] 2 11,000 0 11,000 2,200 2,200 2,200 2,200 2,200

Al 2 2l 11,000 0 11,000 2,200 2,200 2,200 2,200 2,200

Xy 2 17,370 2,479 14,891 4,917 4,506 4,508 480 480
A 2,400 0 2,400 480 480 480 480 480

HER2Z 9| 2 2,400 0 2,400 480 480 480 480 480

Al 2 2ol 2,400 0 2,400 480 480 480 480 480

A 6,896 2,479 4,417 4,417 0 0 0 0

9| 2 6,89 2,479 4,417 4,417 0 0 0 0

C=EXEe2 =4 208 zx32 887 887 0 0 0 0 0 0

Al &l 221 221 0 0 0 0 0 0




Al 2 5 dl 5,788 1,371 4,417 4,417 0 0 0 0
2H1S #Y=ER A
2 Al 8,074 0 8,074 20 4,026 4,028 0 0
9 e 8,074 0 8,074 20 4,026 4,028 0 0
AxiE wE=xEe A | C “ 0 741 0 370 371 0 0
= Al &l 371 0 371 0 185 186 0 0
A =2 2 I 6,962 0 6,962 20 3,471 3,471 0 0
MEESH L THat2e| 37,750 25,500 12,250 8,750 800 850 900 950
SFMA 2t 4,250 0 4,250 750 800 850 900 950
A 4,250 0 4,250 750 800 850 900 950
SE2EXE 29 | & 4,250 0 4,250 750 800 850 900 950
Al = = odl 4,250 0 4,250 750 800 850 900 950
A2t 33,500 25,500 8,000 8,000 0 0 0 0
Al 33,500 25,500 8,000 8,000 0 0 0 0
N =5 33,500 25,500 8,000 8,000 0 0 0 0
ASHT MI2E AL A E Al &l 2,100 2,100 0 0 0 0 0 0
Al & = dl 23,400 15,400 8,000 8,000 0 0 0 0
g M 8,000 8,000 0 0 0 0 0 0
OrM B Al 22| 350 0 350 70 70 70 70 70
CCTV SE2HMEH 29 350 0 350 70 70 70 70 70
CCTV Sg&NHH 249 Al 350 0 350 70 70 70 70 70
o] f 350 0 350 70 70 70 70 70
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VIV ST AL Lo

Al & = Hl 350 0 350 70 70 70 70 70
TAMYE Set 282 96,893 49,203 47,690 15,898 14,991 10,922 5,749 130
SAHS Jl= 2 A =4 31,043 28,860 2,183 2,183 0 0 0 0
Al 1,202 1,202 0 0 0 0 0 0
i\é%ﬁjﬂ%;;g)ﬁ B 9| ? 1,202 1,202 0 0 0 0 0 0
Al &l 1,202 1,202 0 0 0 0 0 0
Al 6,911 6,911 0 0 0 0 0 0
9| 2 6,911 6,911 0 0 0 0 0 0
2azs NEOSAAN L e e : : : : : :
A& Hl 587 587 0 0 0 0 0 0
Al @ = dl 1,756 1,756 0 0 0 0 0 0
Al 3,236 2,986 250 250 0 0 0 0
9l < 3,236 2,986 250 250 0 0 0 0
ﬂglﬁi% CHELLLN A0t Z2E 2 %3 2,265 2,090 175 175 0 0 0 0
A& Hl 291 269 22 22 0 0 0 0
A2 = dl 680 627 53 53 0 0 0 0
CAdEe3NA A 4,167 4,167 0 0 0 0 0 0
H & 4,167 4,167 0 0 0 0 0 0
Zsex3 2,084 2,084 0 0 0 0 0 0

CAdEe3NA
A& Hl 1,042 1,042 0 0 0 0 0 0
Al 2 =8l 1,041 1,041 0 0 0 0 0 0




5] 7,733 5,800 1,933 1,933 0 0 0
o o 7,733 5,800 1,083 1,083 0 0 0
ANEOIHZAM2SNSTH |2s 2z 2 934 934 0 0 0 0 0
=] 1,607 1,527 80 80 0 0 0
AN E 3 5,192 3,339 1,853 1,853 0 0 0
5] 7,794 7,79 0 0 0 0 0
ndoezEeseEs | T s e ° ° ° ° °
(EF4 t2) DEEZx2 3,897 3,897 0 0 0 0 0
A=l 3,897 3,807 0 0 0 0 0
SATHA SYAY =X 65,240 20,343 44,897 13,605 14,871 10,802 5,619
5] 25,000 3,550 11,450 3,775 7,675 0 0
o B 25,000 13,550 11,450 3,775 7,675 0 0

20178 EAIMAM SE Al
AN (R 0HOFS) 2swzxa 12,500 7,400 5,100 2,000 3,100 0 0
A=l 6,250 3,700 2,550 {275 1,275 0 0
g)&ﬁm&gw =2 ANBAM 2 4y 6,250 2,450 3,800 500 3,300 0 0
5] 18,540 2,493 16,047 5,650 3,798 6,599 0
o 2 18,540 2,493 16,047 5,650 3,798 6,599 0
g%ﬁéf'mg TEMNE s o xg 9,270 2,160 7,110 2,713 2,199 2,198 0
ATl 4,635 0 4,635 2,437 1,099 1,009 0
A2 2l 4,635 333 4,302 500 500 3,302 0
5] 1,700 1,700 0 0 0 0 0




2 RBE_g 2 = A 9| £ 1,700 1,700 0 0 0 0 0 0
Al = Hl 1,700 1,700 0 0 0 0 0 0
Hl 2,000 2,000 0 0 0 0 0 0
FEOITW geisenu | T 2,000 2,000 ° ° ° ° ° °
BIOtAel =4 208 x2 1,400 1,400 0 0 0 0 0 0
Al &= Hl 600 600 0 0 0 0 0 0
Hl 2,000 400 1,600 400 400 400 400 0
E:ZTE_ZC_E/D‘\_;'?:T%F%% A& 9| 2 2,000 400 1,600 400 400 400 400 0
Al &= Hl 2,000 400 1,600 400 400 400 400 0
Hl 16,000 200 15,800 3,780 2,998 3,803 5,219 0
2019 TAITHAY S ALD)
(CHEIZEXI W1HOFS) 9| 2 16,000 200 15,800 3,780 2,998 3,803 5,219 0
208 X2 8,000 0 8,000 1,900 1,700 2,177 2,223 0
%%]QE%)}%/\;_X@}%};%M-% Al &= Hl 4,000 0 4,000 1,000 798 626 1,576 0
Al =2 7 i 4,000 200 3,800 880 500 1,000 1,420 0
SANY ssH K& 610 0 610 110 120 120 130 130
Hl 610 0 610 110 120 120 130 130
22302 B2 == XH et 610 0 610 110 120 120 130 130
Al =2 T Hl 610 0 610 110 120 120 130 130
22 ALUOHA 60,647 13,629 47,018 4,648 4,759 11,416 13,035 13,160
THHEETH - 018 60,647 13,629 47,018 4,648 4,759 11,416 13,035 13,160
THEto e 2 orgro|et 23t 39,192 9,608 29,584 1,353 1,381 7,910 9,440 9,500




Hgsa My 2cl 36,108 9,608 26,500 800 800 7,300 8,800 8,800
Al 5,608 1,608 4,000 800 800 800 800 800
e 5,608 , ,
TSt Ol ZFAFSS (Al T b2 1,608 4,000 800 800 800 800 800
2ll13)
Tl 5,600 1,600 4,000 800 800 800 800 800
= T Hl 8 8 0 0 0 0 0 0
Al 30,500 8,000 22,500 0 0 6,500 8,000 8,000
Mo XS el (FEX f 30,500 8,000 22,500 0 0 6,500 8,000 8,000
= SUASEX ZHl)
2022 x3 14,500 4,000 10,500 0 0 2,500 4,000 4,000
Mol EX HH(REXNT? S
ASET =) Tl 16,000 4,000 12,000 0 0 4,000 4,000 4,000
THEr2te| At X & 3,084 0 3,084 553 581 610 640 700
Al 3,084 0 3,084 553 581 610 640 700
Meto gy & S2X1& E 3,084 0 3,084 553 581 610 640 700
= T Hl 3,084 0 3,084 553 581 610 640 700
QNS T AIDIBAIE =4 21,455 4,021 17,434 3,295 3,378 3,506 3,505 3,660
JIHAEE 2el 14,299 2,021 12,278 2,284 2,358 2,476 2,550 2,610
Al 3,801 583 3,218 646 620 638 657 657
| f 3,801 583 3,218 646 620 638 657 657
2os 2el
S | 45 0 45 45 0 0 0 0
= T Hl 3,756 583 3,173 601 620 638 657 657
Al 10,498 1,438 9,060 1,638 1,738 1,838 1,893 1,953
hz2s 2l E 10,498 1,438 9,060 1,638 1,738 1,838 1,893 1,953




Al 2 5 dl 10,498 1,438 ,060 1,638 1,738 1,838 1,893 1,953
& 2el 7,156 2,000 , 156 1,011 1,020 1,030 1,045 1,050
Al 2,656 0 ,656 511 520 530 545 550
HOx 2o 9| =) 2,656 0 ,656 511 520 530 545 550
e | 2,656 0 ,656 511 520 530 545 550
Al 4,500 2,000 ,500 500 500 500 500 500
HON L3 BOAA
9 f 4,500 2,000 ,500 500 500 500 500 500
A&l 4,500 2,000 ,500 500 500 500 500 500
u 6,460 0 ,460 1,292 1,292 1,292 1,292 1,292
6,460 0 ,460 1,292 1,292 1,292 1,292 1,292
ot Blu= 6,460 0 ,460 1,292 1,292 1,292 1,292 1,292
SAl OB =4 6,460 0 ,460 1,292 1,292 1,292 1,292 1,292
Al 4,115 0 ,115 823 823 823 823 823
S L XA XH =5 4,115 0 , 115 823 823 823 823 823
A2 7 dl 4,115 0 ,115 823 823 823 823 823
A 2,345 0 ,345 469 469 469 469 469
s+ 2 XH E 2,345 0 ,345 469 469 469 469 469
Al 2 = dl 2,345 0 ,345 469 469 469 469 469
oty ot 68,367 18,377 ,990 11,813 10,561 13,117 7,887 6,612
Zstol= 34,389 969 33,420 9,143 7,786 10,127 3,182 3,182
N2g & 3,035 0 ,035 607 607 607 607 607




= 3,035 3,035 607 607 607 607 607
=29 Al 3,035 3,035 607 607 607 607 607
XH E 3,035 3,035 607 607 607 607 607
2y
e | 3,035 3,035 607 607 607 607 607
19,060 19,060 ,289 4,922 ,253 298 298
19,060 19,060 ,289 4,922 ,253 298 298
Al 12,060 12,060 ,404 3,404 ,252 0 0
XH E 12,060 12,060 ,404 3,404 ,252 0 0
ZsEE X2 4,982 4,982 ,661 1,661 ,660 0 0
A&l 2,491 2,491 831 831 829 0 0
Al 7 dl 4,587 4,587 912 912 , 763 0 0
Al 2,557 2,557 ,565 198 198 298 298
9| = 2,557 2,557 ,565 198 198 298 298
=nEx3 178 178 178 0 0 0 0
&2 TN =4 z S22 X3 490 490 98 98 98 98 98
Al &l 89 89 89 0 0 0 0
e | 1,800 1,800 ,200 100 100 200 200
(e X 8§) 794 794 794 0 0 0 0
Al 4,443 4,443 ,320 1,320 ,803 0 0
XH E 4,443 4,443 ,320 1,320 ,803 0 0
202 x3 1,500 1,500 500 500 500 0 0
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gEHE &9 w2Es & TH 2 2,500 0 2,500 500 500 500 500 500

A2 2ol 2,500 0 2,500 500 500 500 500 500

(k= 31,630 15,060 16,570 2,670 2,775 2,990 4,705 3,430
MERS sS4 25,150 12,800 12,350 2,260 2,275 2,490 2,305 3,020
MBS 23 - |4 18,750 12,800 5,950 1,160 1,175 1,190 1,205 1,220

H 2,950 0 2,950 560 575 590 605 620

OAt 348 2g T 2 2,950 0 2,950 560 575 590 605 620

A2 2l 2,950 0 2,950 560 575 590 605 620

A 12,800 12,800 0 0 0 0 0 0

9| 2 12,800 12,800 0 0 0 0 0 0

gl?jﬁfgﬁw@ﬁ&é@ laezx3 5,000 5,000 0 0 0 0 0 0

Al & Hl 6,400 6,400 0 0 0 0 0 0

Al 2 2l 1,400 1,400 0 0 0 0 0 0

g iﬁa S0Hel~==4H H 3,000 0 3,000 600 600 600 600 600

2 AP R O 01 A T MIE ] 2 3,000 0 3,000 600 600 600 600 600

=g NI | 3,000 0 3,000 600 600 600 600 600
HMEAL 22| 6,400 0 6,400 1,100 1,100 1,300 1,100 1,800

H 6,400 0 6,400 1,100 1,100 1,300 1,100 1,800

EOJEH$E;2'M§ del. g 9| 2 6,400 0 6,400 1,100 1,100 1,300 1,100 1,800

NI | 6,400 0 6,400 1,100 1,100 1,300 1,100 1,800

=E 6,480 2,260 4,220 410 500 500 2,400 410




=& HsAE 2l 6,480 ,260 4,220 410 500 500 2,400 410

Al 4,260 ,260 2,000 400 400 400 400 400

9| = 4,260 ,260 2,000 400 400 400 400 400

iigiﬂ%)\lg A = 202 x3 500 0 500 100 100 100 100 100
A&l 500 0 500 100 100 100 100 100

Al 2 4l 3,260 ,260 1,000 200 200 200 200 200

Al 2,220 0 2,220 10 100 100 2,000 10

S=k HsSAE 24 el 2 2,220 0 2,220 10 100 100 2,000 10

Al 7 dl 2,220 0 2,220 10 100 100 2,000 10

23HM 2,348 ,348 0 0 0 0 0 0
S22 Hs € 2& 2,348 ,348 0 0 0 0 0 0
2etRe B& 2,348 ,348 0 0 0 0 0 0

Al 2,348 ,348 0 0 0 0 0 0

CiOH&ld 2 & XH = 2,348 ,348 0 0 0 0 0 0

Al @+ dl 2,348 ,348 0 0 0 0 0 0

& 84,252 0 84,252 16,374 16,085 16,635 17,423 17,735
HII2 82,137 0 82,137 15,951 15,662 16,212 17,000 17,312
g 82,137 0 82,137 15,951 15,662 16,212 17,000 17,312
jHe dasd x4 68,036 0 68,036 12,750 13,012 13,512 14,250 14,512

Al 68,036 0 68,036 12,750 13,012 13,512 14,250 14,512

9| f 68,036 0 68,036 12,750 13,012 13,512 14,250 14,512

AHSIHINI 2 71231




SE ISl = AU

AN Sl 536 0 536 250 12 12 250 12
N 67,500 0 67,500 2,500 13,000 13,500 14,000 14,500
SasEHIIS Res 14,101 0 14,101 3,201 2,650 2,700 2,750 2,800
5] 14,101 0 14,101 3,201 2,650 2,700 2,750 2,800
o 2 14,101 0 14,101 3,201 2,650 2,700 2,750 2,800

SAZIEHIIZ2 Ml
ATl 601 0 601 601 0 0 0 0
AN E 3 13,500 0 3,500 2,600 2,650 2,700 2,750 2,800
CH | 2115 0 2115 423 423 423 423 423
o ] RS BFCAl P 2115 0 2115 423 423 423 423 423
;“339% N & TAFH 33 2115 0 2115 423 423 423 423 423
5] 2115 0 2115 423 423 423 423 423
o 2 2,115 0 2,115 423 423 423 423 423
A4 B4 T 6 2 M| EEE 1,895 0 895 379 379 379 379 379
AN Sl 110 0 110 20 20 20 20 20
AN E 3 110 0 110 20 20 20 20 22
AFBI2 X 1,600,535 8.817| 1,591,718] 311,780 315,087 314,104 320,629| 330,118
SJEETE 368,743 0 368,743 72,366 72,906 73,443 74,471 75,557
B EE T 235,561 0 235,561 46,831 46,851 46,871 47,254 47,754
2O EMEAST N 230,334 0 230,334 45,820 45,820 45,820 46,187 46,687
5] 226,979 0 226,979 45,149 45,149 45,149 45,516 46,016
o 2 226,979 0 226,979 45,149 45,149 45,149 45,516 46,016




2102 x3 204,399 0 204,399 40,633 40,633 40,633 41,000 41,500
A & HI 15,805 15,805 3,161 3,161 3,161 3,161 3,161
Al = 7 dl 6,775 6,775 1,355 1,355 1,355 1,355 1,355
Al 1,240 1,240 248 248 248 248 248
9| £ 1,240 1,240 248 248 248 248 248
=202 x3 1,240 1,240 248 248 248 248 248
Al 2,115 2,115 423 423 423 423 423
9| £ 2,115 2,115 423 423 423 423 423
2022 x3 1,900 1,900 380 380 380 380 380
A&l 150 150 30 30 30 30 30
Al 7 dl 65 65 13 13 13 13 13
X 2,240 2,240 448 448 448 448 448
A 2,240 2,240 448 448 448 448 448
9 2 2,240 2,240 448 448 448 448 448
Al &l 2,240 2,240 448 448 448 448 448
HAES 2zdl XN 2,987 2,987 563 583 603 619 619
Al 2,987 2,987 563 583 603 619 619
9| £ 2,987 2,987 563 583 603 619 619
gdzs0 &=
202 x3 2,391 2,391 451 467 483 495 495
Al &l 596 596 112 116 120 124 124
30,884 30,884 6,065 6,105 6,127 6,263 6,324




NEAY =8 30,884 30,884 6,065 6,105 6,127 6,263 6,324
22 Al 27,981 27,981 5,541 5,541 5,541 5,654 5,704
9| f 27,981 27,981 5,541 5,541 5,541 5,654 5,704
202 x3 25,21 25,211 4,987 4,987 4,987 5,100 5,150
A2z
Al &l 1,940 1,940 388 388 388 388 388
Al 2 4l 830 830 166 166 166 166 166
Al 2,903 2,903 524 564 586 609 620
9| £ 2,903 2,903 524 564 586 609 620
NS tade 29
2022 x3 2,028 2,028 367 395 410 426 430
A&l 875 875 157 169 176 183 190
HAHSF=AHNE 84,923 84,923 15,995 16,475 16,970 17,479 18,004
FHAHSFAXE 84,923 84,923 15,995 16,475 16,970 17,479 18,004
Al 84,923 84,923 15,995 16,475 16,970 17,479 18,004
9 2 84,923 84,923 15,995 16,475 16,970 17,479 18,004
=20 2102 zx3 76,426 76,426 14,395 14,827 15,272 15,730 16,202
Al &l 5,950 5,950 1,120 1,154 1,189 1,225 1,262
Al 2 2,547 2,547 480 494 509 524 540
NASS MEJIE =4 17,375 17,375 3,475 3,475 3,475 3,475 3,475
A2l A I A Aatedd X& 17,375 17,375 3,475 3,475 3,475 3,475 3,475
Z2sHUsT==s8MAE
272 Al 4,810 4,810 962 962 962 962 962
9| £ 4,810 4,810 962 962 962 962 962
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sxa(zd =22 x3 510 510 102 102 102 102 102
A&l 65 65 13 13 13 13 13
Al 25 25 5 5 5 5 5
oesageaanogs [0 7 = 2 5 5 5 5 5
sSla(sss2 2022 zx3 15 15 3 3 3 3 3
A=l 10 10 2 2 2 2 2
& 220,447 218,468 ,224 42,334 42,379 ,289 48,242
25t 30,449 30,449 , 7197 5,904 5,946 ,982 6,820
NG Ae] SXSEE 24,604 24,604 ,867 4,894 4,921 ,947 4,975
Al 16,829 16,829 ,312 3,339 3,366 ,392 3,420
9 ? 16,829 16,829 , 312 3,339 3,366 ,392 3,420

NE=I 2o
A&l 16,765 16,765 ,300 3,326 3,353 ,379 3,407
A2 7 dl 64 64 12 13 13 13 13
HER S Al 7,235 7,235 , 447 1,447 1,447 , 447 1,447
9 2 7,235 7,235 , 447 1,447 1,447 , 447 1,447
HE2SA X Al &l 7,140 7,140 ,428 1,428 1,428 ,428 1,428
e | 95 95 19 19 19 19 19
A 540 540 108 108 108 108 108
EW RSN, 9 £ 540 540 108 108 108 108 108
Al &l 540 540 108 108 108 108 108
GAE UsF: 5,845 5,845 930 1,010 1,025 ,035 1,845




Al 5,845 5,845 930 1,010 1,025 1,035 1,845
9| £ 5,845 5,845 930 1,010 1,025 1,035 1,845
g SXX& =182 x3 3,965 3,965 750 800 805 805 805
A=l 1,240 1,240 70 90 90 90 900
Al = 7 dl 640 640 110 120 130 140 140
Ots=X &4 95,939 95,939 18,794 18,797 18,800 19,674 19,874
=23 95,939 95,939 18,794 18,797 18,800 19,674 19,874
Al 6,056 6,056 1,207 1,210 1,213 1,213 1,213
9 ? 6,056 6,056 1,207 1,210 1,213 1,213 1,213

Y - Yo 05 AN
& A&l 4,500 4,500 900 900 900 900 900
Al 2+ Hl 1,556 1,556 307 310 313 313 313
Al 77,733 77,733 15,157 15,157 15,157 16,031 16,231
9 f 77,733 77,733 15,157 15,157 15,157 16,031 16,231
Ots=4 XA 22 x3 62,578 62,578 12,126 12,126 12,126 13,000 13,200
Al &l 10,610 10,610 2,122 2,122 2,122 2,122 2,122
Al 2 = dl 4,545 4,545 909 909 909 909 909
Al 6,970 6,970 1,394 1,394 1,394 1,394 1,394
g%x%*%%/\Vé(OHOF%) Z Q| £ 6,970 6,970 1,39 1,394 1,394 1,394 1,394
Al & HI 6,970 6,970 1,394 1,394 1,394 1,394 1,394
Al 5,180 5,180 1,036 1,036 1,036 1,036 1,036
9| < 5,180 5,180 1,036 1,036 1,036 1,036 1,036

TIANLSEAMEl 2 T2l




ANl VIS el

222 x3 2,590 2,590 518 518 518 518 518

T ol 2,590 2,590 518 518 518 518 518

FAEAS KNS 94,059 92,080 17,633 17,633 17,633 17,633 21,548
fOHRI=X S& 77,510 77,510 15,502 156,502 156,502 15,502 15,502
Al 30,690 30,690 6,138 6,138 6,138 6,138 6,138

< 30,690 30,690 6,138 6,138 6,138 6,138 6,138

e X2 21,480 21,480 4,296 4,296 4,296 4,296 4,296

Tl 9,210 9,210 1,842 1,842 1,842 1,842 1,842

Al 5,700 5,700 1,140 1,140 1,140 1,140 1,140

£ 5,700 5,700 1,140 1,140 1,140 1,140 1,140

g2 x 2 3,990 3,990 798 798 798 798 798

S | 1,710 1,710 342 342 342 342 342

Al 2,515 2,515 503 503 503 503 503

£ 2,515 2,515 503 503 503 503 503

- 2 x 2 1,760 1,760 352 352 352 352 352

ES: | 755 755 151 151 151 151 151

Al 4,100 4,100 820 820 820 820 820

sane K 5 4,100 4,100 820 820 820 820 820
=222 x3 2,050 2,050 410 410 410 410 410

ES: | 2,050 2,050 410 410 410 410 410

Al 27,600 27,600 5,520 5,520 5,520 5,520 5,520




o 2 27,600 0 27,600 5,520 5,520 5,520 5,520 5,520
N ESXA(BIRM)
22w zx3 19,320 0 19,320 3,864 3,864 3,864 3,864 3,864
AN =l 8,280 0 8,280 1,656 1,656 1,656 1,656 1,656
2 2,020 0 2,020 404 404 404 404 404
MO ES X (AlHl)
° 2 2,020 0 2,020 404 404 404 404 404
HOHOI B S X2 (AlH]) A Sl 2,020 0 2,020 404 404 404 404 404
3 4,885 0 4,885 977 977 977 977 977
ol e 4,885 0 4,885 977 977 977 977 977
SEHEMBIA X
229 zx2 3,420 0 3,420 684 684 684 684 684
AN =l 1,465 0 1,465 293 293 293 293 293
TR AL X 16,549 1,979 14,570 2,131 2,131 2,131 2,131 6,046
2 6,050 0 6,050 1,210 1,210 1,210 1,210 1,210
ol =l 6,050 0 6,050 1,210 1,210 1,210 1,210 1,210
HOOI=R B 2L A
AN =l 5,900 0 5,900 1,180 1,180 1,180 1,180 1,180
Al 2 2 150 0 150 30 30 30 30 30
2 2,385 0 2,385 477 477 477 477 477
XOHOl =2 ESAlA 2
040IH|; = ZeAE ol o 2,385 0 2,385 477 477 477 477 477
AN =l 2,385 0 2,385 477 477 477 477 477
2 2,220 0 2,220 444 444 444 444 444
DN BSHEIE 2
X 9_H * ol 2 2,220 0 2,220 444 444 444 444 444
A=l 2,220 0 2,220 444 444 444 444 444




Hl 5,894 1,979 3,915 0 0 0 0 3,915
ANEt2 M=
] L 5,894 1,979 3,915 0 0 0 0 3,915
208 x32 362 362 0 0 0 0 0 0
XEE M= Al =l 2,457 362 2,095 0 0 0 0 2,095
Al =2 7 dl 3,075 1,255 1,820 0 0 0 0 1,820
2 357,718 1,223 356,495 68,792 71,397 69,782 72,062 74,462
JFE XA 357,718 1,223 356,495 68,792 71,397 69,782 72,062 74,462
22,359 0 22,359 3,760 4,083 4,437 4,826 5,253
| 19,109 0 19,109 3,130 3,443 3,787 4,166 4,583
9 e 19,109 0 19,109 3,130 3,443 3,787 4,166 4,583
PNE
=2 oEx2 13,376 0 13,376 2,191 2,410 2,651 2,916 3,208
Al = H] 5,733 0 5,733 939 1,033 1,136 1,250 1,375
Al 3,250 0 3,250 630 640 650 660 670
=(AlHl) 9| £ 3,250 0 3,250 630 640 650 660 670
Al = H] 3,250 0 3,250 630 640 650 660 670
st =X & 12,270 0 12,270 2,454 2,454 2,454 2,454 2,454
Al 12,270 0 12,270 2,454 2,454 2,454 2,454 2,454
9 =] 12,270 0 12,270 2,454 2,454 2,454 2,454 2,454
ELtH 2sH =
2onex2 9,815 0 9,815 1,963 1,963 1,963 1,963 1,963
Al =l 2,455 0 2,455 491 491 491 491 491
A - 20 4|8t =4 323,089 1,223 321,866 62,578 64,860 62,891 64,782 66,755




Al 150,399 150,399 27,218 28,579 30,008 31,509 33,085
9| £ 150,399 150,399 27,218 28,579 30,008 31,509 33,085
dRrotE2Es=z A& =2122x3 112,802 112,802 20,414 21,435 22,507 23,632 24,814
A & Hl 26,319 26,319 4,763 5,001 5,251 5,514 5,790
Al = 7 dl 11,278 11,278 2,041 2,143 2,250 2,363 2,481
Al 60,949 60,949 11,712 11,946 12,185 12,429 12,677
FelddE B2 A& 9| = 60,949 60,949 11,712 11,946 12,185 12,429 12,677
A&l 60,949 60,949 11,712 11,946 12,185 12,429 12,677
Al 34,340 34,340 6,600 6,731 6,864 7,002 7,143
9| £ 34,340 34,340 6,600 6,731 6,864 7,002 7,143
ggu%gﬁg%%’%)ﬂ%(QO 2022 x3 25,758 25,758 4,950 5,049 5,149 5,252 5,358
A&l 6,009 6,009 1,155 1,178 1,201 1,225 1,250
Al @+ dl 2,573 2,573 495 504 514 525 535
Al 3,947 3,947 774 782 789 797 805
9 = 3,947 3,947 774 782 789 797 805
S3d0eolE X
212 x3 2,367 2,367 464 469 473 478 483
Al &l 1,105 1,105 217 219 221 223 225
S380E0d K& Al = 7 dl 475 475 93 94 95 96 97
Al 39,930 39,930 7,986 7,986 7,986 7,986 7,986
9| s 39,930 39,930 7,986 7,986 7,986 7,986 7,986
EFWAHA olAY] K& 2102zx3 23,955 23,955 4,791 4,791 4,791 4,791 4,791




A= 1,180 0 11,180 236 2,236 236 2,236 2,236
=R 4,795 0 4,795 959 959 959 959 959
i 6,405 0 6,405 281 1,281 281 1,281 1,281
o 2 6,405 0 6,405 281 1,281 281 1,281 1,281
(Ejgﬂi\%gj; S B 3,850 0 3,850 770 770 770 770 770
A b 1,785 0 1,785 357 357 357 357 357
AR T 770 0 770 154 154 154 154 154
i 11,665 0 11,665 333 2,333 333 2,333 2,333
o 2 11,665 0 11,665 333 2,333 333 2,333 2,333
éi%ﬁﬁ@j?”ﬁ A 7,000 0 7,000 400 1,400 400 1,400 1,400
A= 3,265 0 3,265 653 653 653 653 653
A2 T 1,400 0 1,400 280 280 280 280 280
i 7,205 0 7,225 445 1,445 445 1,445 1,445

ZR0INANE0E 25
AR SRS A o 2 7,205 0 7,225 445 1,445 445 1,445 1,445
i Y ] 7,225 0 7,225 445 1,445 445 1,445 1,445
i 229 0 229 229 0 0 0 0
o 2 229 0 229 229 0 0 0 0
HelolsE == 212 x3 60 0 60 60 0 0 0 0
A b 30 0 30 30 0 0 0 0
A2 T 139 0 139 139 0 0 0 0
! 8,000 1,223 6,777 000 3,777 0 0 0




W =3 8,000 1,223 6,777 3,000 3,777 0 0 0
SOIEEXJAME HE =208 zx32 1,000 1,000 0 0 0 0 0 0
Al & Hl 500 0 500 0 500 0 0 0
Al =2 7ol 6,500 223 6,277 3,000 3,277 0 0 0
Lol - Fad 631,094 5,615 625,479 123,993 123,993 123,993 126,250 127,250
LoI=RX & 631,094 5,615 625,479 123,993 123,993 123,993 126,250 127,250
Motcordeord XI& 576,494 0 576,494 114,196 114,196 114,196 116,453 117,453
A 560, 159 0 560, 159 110,929 110,929 110,929 113,186 114,186
9 e 560, 159 0 560, 159 110,929 110,929 110,929 113,186 114,186
JxzA3 X3

208 x3 449,229 0 449,229 88,743 88,743 88,743 91,000 92,000
Al &l 88,745 0 88,745 17,749 17,749 17,749 17,749 17,749
Jx=d= N3 Al 2 ol 22,185 0 22,185 4,437 4,437 4,437 4,437 4,437
Al 16,335 0 16,335 3,267 3,267 3,267 3,267 3,267
9 £ 16,335 0 16,335 3,267 3,267 3,267 3,267 3,267

LolE=sSAUIA K&
2 e xE3 11,435 0 11,435 2,287 2,287 2,287 2,287 2,287
Al & dl 4,900 0 4,900 980 980 980 980 980
Lol Motes & nEJIE MS 33,810 0 33,810 6,762 6,762 6,762 6,762 6,762
Hl 30,875 0 30,875 6,175 6,175 6,175 6,175 6,175
LolaTiz] U ABIEET 9 e 30,875 0 30,875 6,175 6,175 6,175 6,175 6,175
2 =0 208 x3 22,855 0 22,855 4,571 4,571 4,571 4,571 4,571
Al &l 8,020 0 8,020 1,604 1,604 1,604 1,604 1,604




Al 2,300 0 ,300 460 460 460 460 460
9| < 2,300 0 ,300 460 460 460 460 460
dzd &9
Al &l 1,300 0 ,300 260 260 260 260 260
Al 2 4l 1,000 0 ,000 200 200 200 200 200
Al 635 0 635 127 127 127 127 127
9| £ 635 0 635 127 127 127 127 127
d2g 2l
Al &l 15 0 15 3 3 3 3 3
Al < dl 620 0 620 124 124 124 124 124
Lol=gAld 2 8,375 0 ,375 1,675 1,675 1,675 1,675 1,675
Al 2,490 0 ,490 498 498 498 498 498
9| = 2,490 0 ,490 498 498 498 498 498
LdZAE 283
212 x3 1,575 0 ,575 315 315 315 315 315
Al &l 915 0 915 183 183 183 183 183
Al 3,200 0 ,200 640 640 640 640 640
9 = 3,200 0 ,200 640 640 640 640 640
HASOH(EHEAE)
212 zx3 2,880 0 ,880 576 576 576 576 576
Al & Hl 320 0 320 64 64 64 64 64
Al 2,685 0 ,685 537 537 537 537 537
MOt oISXAIE 22t
Il-ll :t A< | 9| f 2,685 0 ,685 537 537 537 537 537
Al &l 2,685 0 ,685 537 537 537 537 537
LoI=EX =g =E 12,415 5,615 ,800 1,360 1,360 1,360 1,360 1,360




3 3,445 0 3,445 689 689 689 689 689
NEAE Lo =T = |2 e 3,445 0 3,445 689 689 689 689 689
of
< AN =l 2,450 0 2,450 490 490 490 490 490
A2 3l 995 0 995 199 199 199 199 199
AEE AR TN
o o 2 3,355 0 3,355 671 671 671 671 671
ol e 3,355 0 3,355 671 671 671 671 671
AE S AL RH
= AN =l 2,360 0 2,360 472 472 472 472 472
A2 3ol 995 0 995 199 199 199 199 199
2 5,615 5,615 0 0 0 0 0 0
ol e 5,615 5,615 0 0 0 0 0 0
CoI=xY AS
A=l 2,200 2,200 0 0 0 0 0 0
A2 3ol 3,415 3,415 0 0 0 0 0 0
[y 7,678 0 7,678 434 486 536 ,586 ,636
D8 =7 Y OHF 7.678 0 7,678 434 486 536 586 ,636
AlQi ) =4 7,678 0 7,678 434 486 536 ,586 ,636
2 2,230 0 2,230 446 446 446 448 446
ol 2 2,230 0 2,230 446 446 446 446 446
SSZZAY F=&A
AN =l 1,670 0 1,670 334 334 334 334 334
A2 3l 560 0 560 112 112 112 112 112
2 3,748 0 3,748 648 700 750 800 850
ol e 3,748 0 3,748 648 700 750 800 850




z2s2x3 2,024 2,024 324 350 400 450 500
Al &l 994 994 194 200 200 200 200
Al = 7 dl 730 730 130 150 150 150 150
Al 1,700 1,700 340 340 340 340 340
9| = 1,700 1,700 340 340 340 340 340
&IIY |54

2s2x3 1,200 1,200 240 240 240 240 240
Al &l 500 500 100 100 100 100 100
14,855 14,855 2,971 2,971 2,971 2,971 2,971
14,855 14,855 2,971 2,971 2,971 2,971 2,971
14,855 14,855 2,971 2,971 2,971 2,971 2,971
Al 2,580 2,580 516 516 516 516 516
9 2 2,580 2,580 516 516 516 516 516
2022 x3 2,320 2,320 464 464 464 464 464
Al &l 260 260 52 52 52 52 52
A 12,275 12,275 2,455 2,455 2,455 2,455 2,455
9| e 12,275 12,275 2,455 2,455 2,455 2,455 2,455

AAANE 2EXE
2022 x3 8,425 8,425 1,685 1,685 1,685 1,685 1,685
Al &l 3,850 3,850 770 770 770 770 770
=l 29,490 29,490 5,898 5,898 5,898 5,898 5,898
29,490 29,490 5,898 5,898 5,898 5,898 5,898
20,580 20,580 4,116 4,116 4,116 4,116 4,116




ol MHIA 20,580 20,580 4,116 4,116 4,116 4,116 4,116
Al 110 110 22 22 22 22 22
9 2 110 110 22 22 22 22 22
=392 28 X2 30 30 6 6 6 6 6
Al & Hl 70 70 14 14 14 14 14
Al =2 7ol 10 10 2 2 2 2 2
A 20,470 20,470 4,094 4,094 4,094 4,094 4,094
9| f 20,470 20,470 4,094 4,094 4,094 4,094 4,094
= JH0ll 2 e x2 10,260 10,260 2,052 2,052 2,052 2,052 2,052
Al &l 5,105 5,105 1,021 1,021 1,021 1,021 1,021
Al = = odl 5,105 5,105 1,021 1,021 1,021 1,021 1,021
DlALS A 8,910 8,910 1,782 1,782 1,782 1,782 1,782
HLE2HKN 8,910 8,910 1,782 1,782 1,782 1,782 1,782
Al 1,560 1,560 312 312 312 312 312
9 £ 1,560 1,560 312 312 312 312 312
%él—jdjl-
3 X2 780 780 156 156 156 156 156
Al & dl 390 390 78 78 78 78 78
sgtad Al = 7 dl 390 390 78 78 78 78 78
Al 910 910 182 182 182 182 182
9 e 910 910 182 182 182 182 182
HAA = 32 =2 455 455 91 91 91 91 91




A2l XM

Al &l 230 230 46 46 46 46 46
Al 2 7l 225 225 45 45 45 45 45
Al 3,000 3,000 600 600 600 600 600
9| < 3,000 3,000 600 600 600 600 600
AL

23] s Ko 24| 2 e=x2 1,500 1,500 300 300 300 300 300
A & Hl 750 750 150 150 150 150 150
Al = 7 dl 750 750 150 150 150 150 150
Al 3,440 3,440 688 688 688 688 688
9| = 3,440 3,440 688 688 688 688 688

S|HAE S =8l K&
2 e x2 1,720 1,720 344 344 344 344 344
Al &l 1,720 1,720 344 344 344 344 344
= 60,009 60,009 ,096 ,535 13,886 7,231 6,261
23,004 23,004 ,255 6,794 4,145 4,390 4,420
2o X 23,004 23,004 ,255 6,794 4,145 4,390 4,420
a2 X 4,800 4,800 900 930 960 990 1,020
Al 4,800 4,800 900 930 960 990 1,020
AH= 0 XH E 4,800 4,800 900 930 960 990 1,020
Al = 7 dl 4,800 4,800 900 930 960 990 1,020
atg 2tel 18,204 18,204 ,355 ,864 3,185 3,400 3,400
Al 5,112 5,112 424 530 1,286 1,436 1,436
9| £ 5,112 5,112 424 530 1,286 1,436 1,436




Toodld oo

as e xa ,556 ,b56 212 265 643 718 718
e | ,556 ,556 212 265 643 718 718
Al ,035 ,035 180 195 210 225 225
9 f ,035 ,035 180 195 210 225 225
SAsE =4
asegxa2 690 690 120 130 140 150 150
A & Hl 345 345 60 65 70 75 75
A ,425 ,425 195 245 295 345 345
9| f ,425 ,425 195 245 295 345 345
22K A ZELXE3 ,060 ,060 122 172 222 272 272
Al &l 255 255 51 51 51 51 51
Al = 7 dl 110 110 22 22 22 22 22
Al ,034 ,034 106 232 232 232 232
9 £ ,034 ,034 106 232 232 232 232
AT AIE asexz 720 720 0 180 180 180 180
Al & Hl 138 138 74 16 16 16 16
Al 2 = oHl 176 176 32 36 36 36 36
Al ,543 ,543 499 511 511 511 511
9 g2 ,543 ,543 499 511 511 511 511
A AL I 02 x3 ,781 ,781 349 358 358 358 358
Al & dl 533 533 105 107 107 107 107
e | 229 229 45 46 46 46 46




A 2,555 2,555 511 511 511 511 511
9 f 2,555 2,555 511 511 511 511 511
AR Al K& 2108 x2 1,790 1,790 358 358 358 358 358
A=l 535 535 107 107 107 107 107
Al 2 = dl 230 230 46 46 46 46 46
Al 700 700 140 140 140 140 140
STHAS A B[] 9 f 700 700 140 140 140 140 140
208 x2 500 500 100 100 100 100 100
Al &l 100 100 20 20 20 20 20
ST ArAAE BT
A2 7 odl 100 100 20 20 20 20 20
A 3,800 3,800 300 ,500 0 0 0
9 2 3,800 3,800 300 ,500 0 0 0
st ARE X4
Al &l 200 200 200 0 0 0 0
Al & = dl 3,600 3,600 100 ,500 0 0 0
-HE 37,005 37,005 8,841 13,741 9,741 2,841 1,841
by Jlet =4 31,705 31,705 7,781 ,681 8,681 1,781 781
= MTHE B4 28,050 28,050 7,050 ,950 7,950 1,050 50
A 230 230 46 46 46 46 46
9| f 230 230 46 46 46 46 46
LuET 2R
A&l 115 115 23 23 23 23 23
A = | 115 115 23 23 23 23 23




AL™MA MU N SFLALA

5 20 20 4 4 4 4 4
= 20 20 4 4 4 4 4
L=ojgiol &az xal
L= | 10 10 2 2 2 2 2
= 2 Hl 10 10 2 2 2 2 2
Helst 8ai) AX| Al 4,000 4. 000 0 ,000 ,000 1,000 0
=3 4,000 4 .000 0 ,000 ,000 1,000 0
E9 x2 2,000 2,000 0 ,000 500 500 0
Xels BMD AX
< Hi 1,000 1,000 0 500 250 250 0
= 7 Hl 1,000 1,000 0 500 250 250 0
A 23,800 23,800 7,000 ,900 ,900 0 0
2 23,800 23,800 7,000 ,900 ,900 0 0
HE=ERY 300AHS e =2 16,660 16,660 4900 ,930 ,830 0 0
& H 3,570 3,570 1,050 ,485 ,035 0 0
= 7 dl 3,570 3,570 1,050 ,485 ,035 0 0
oHErAE A 3,655 3,655 731 731 731 731 731
Al 2,120 2,120 424 424 424 424 424
o _ 2 2,120 2,12 424 424 424 424 424
SRS T MAT| HEIAY 120
(BXEX)
g =2 1,460 1,460 292 292 292 292 292
< H 660 660 132 132 132 132 132
Al 1,535 1,535 307 307 307 307 307
£ 1,535 1,535 307 307 307 307 307




vikz vl I — i

(= A =

(DISX&H) =z x3 875 875 175 175 175 175 175
A&l 660 660 132 132 132 132 132

ofel 2 &S 5,300 5,300 1,060 1,060 1,060 1,060 1,060
=g 2 5,300 5,300 1,060 1,060 1,060 1,060 1,060
Al 1,335 1,335 267 267 267 267 267

== 23 XH E 1,335 1,335 267 267 267 267 267

Al = 7 dl 1,335 1,335 267 267 267 267 267

Al 1,835 1,835 367 367 367 367 367

zz%g ANgs €x = XH = 1,835 1,835 367 367 367 367 367

Al 2 7 Hl 1,835 1,835 367 367 367 367 367

Al 2,050 2,050 410 410 410 410 410

HHEA 29 9 2 2,050 2,050 410 410 410 410 410

Al @+ dl 2,050 2,050 410 410 410 410 410

Al 80 80 16 16 16 16 16

AL = K& XH = 80 80 16 16 16 16 16

Al = 7 dl 80 80 16 16 16 16 16

S EH UK 29,392 23,189 1,694 4,005 3,780 6,085 7,625
g-153s 29,392 23,189 1,694 4,005 3,780 6,085 7,625
AEHM 2dst 23,164 23,164 1,689 4,000 3,775 6,080 7,620
aHel 2N =E 23,164 23,164 1,689 4,000 3,775 6,080 7,620
Al 6,494 6,494 1,354 1,000 1,440 1,080 1,620




9| = 6,494 0 6,494 1,354 ,000 1,440 1,080 1,620 0
A & HI 3,247 0 3,247 677 500 720 540 810 0
Al = 7 dl 3,247 0 3,247 677 500 720 540 810 0
Al 6,670 0 6,670 335 ,000 335 2,000 2,000 0

9| = 6,670 0 6,670 335 ,000 335 2,000 2,000 0
= 2 e x2 4,000 0 4,000 200 ,200 200 1,200 1,200 0
Al &l 2,000 0 2,000 100 600 100 600 600 0
Al 2 7 Hl 670 0 670 35 200 35 200 200 0
Al 10,000 0 10,000 0 ,000 2,000 3,000 4,000 0

9| 2 10,000 0 10,000 0 ,000 2,000 3,000 4,000 0
2s2x3 5,000 0 5,000 0 500 1,000 1,500 2,000 0
A&l 2,500 0 2,500 0 250 500 750 1,000 0
Al @+ dl 2,500 0 2,500 0 250 500 750 1,000 0
6,228 6,203 25 5 5 5 5 5 0

6,228 6,203 25 5 5 5 5 5 0

Al 6,228 6,203 25 5 5 5 5 5 0

XH E 6,228 6,203 25 5 5 5 5 5 0
Al &l 6,200 6,200 0 0 0 0 0 0 0
Al =2 4l 28 3 25 5 5 5 5 5 0
WSA=ER 179,007 53,922 124,435 13,848 17,220 21,203 37,144 35,020 650
137,825 40,712 96,463 5,559 11,661 16,484 32,425 30,334 650




C2IIEAIE &F 2 THoh ol & 137,825 40,712 96,463 5,559 11,661 16,484 32,425 30,334 650

C2HH 115,675 37,112 77,913 2,929 7,431 12,254 28,795 26,504 650

Al 4,840 1,850 2,990 0 0 1,000 1,000 990 0

ROIAF A C 220 R A XH E 4,840 1,850 2,990 0 0 1,000 1,000 990 0

clet == e Al &l 1,850 1,850 0 0 0 0 0 0 0

e | 2,990 0 2,990 0 0 1,000 1,000 990 0

Al 2,900 800 2,100 299 601 0 0 1,200 0

xS MBS A2 9| 2 2,900 800 2,100 299 601 0 0 1,200 0
b2

Al &l 2,200 800 1,400 100 100 0 0 1,200 0

Al 2+ Hl 700 0 700 199 501 0 0 0 0

Al 3,700 2,540 1,160 0 0 0 0 1,160 0

9| £ 3,700 2,540 1,160 0 0 0 0 1,160 0

LS d67elA ==He Al &l 1,560 400 1,160 0 0 0 0 1,160 0

Al @+ dl 2,140 2,140 0 0 0 0 0 0 0

Al 5,825 1,682 4,143 0 930 754 2,459 0 0

i::a%cﬂm% =&z2 N XH =3 5,825 1,682 4,143 0 930 754 2,459 0 0

e | 5,825 1,682 4,143 0 930 754 2,459 0 0

A 6,360 5,260 1,100 0 0 0 0 1,100 0

B D-slCrd ool C 2oy 9| £ 6,360 5,260 1,100 0 0 0 0 1,100 0

= Al &l 2,000 900 1,100 0 0 0 0 1,100 0

e | 4,360 4,360 0 0 0 0 0 0 0




3l 10,000 1,255 745 1,430 2,000 1,500 1,836 1,979
CHHESE oot E 20 ol 2 10,000 1,255 745 1,430 2,000 1,500 1,836 1,979
Al =l 10,000 1,255 745 1,430 2,000 1,500 1,836 1,979
b 2,000 0 ,000 0 0 0 0 2,000
ZdY S8 22 D
- sl P = 2,000 0 ,000 0 0 0 0 2,000
=
A2 3l 2,000 0 ,000 0 0 0 0 2,000
3l 1,250 0 250 0 0 0 0 1,250
CtiE 7238 XY@ &2
JI: Eﬂ re3EinE ] = 1,250 0 ,250 0 0 0 0 1,250
Al 2 2 I 1,250 0 250 0 0 0 0 1,250
b 6,000 715 285 0 500 1,000 2,500 1,285
UZ2s HAI0HIE & &
2
T = 6,000 715 285 0 500 1,000 2,500 1,285
UH2E HAIOIE & &
é]HZM OFLf A2 3ol 6.000 715 285 0 500 1,000 2,500 1,285
2l 6,000 0 ,000 0 500 1,000 4,500 0
NUSAZLEI0IME-~
NsSXNSsW 4722 & | & 6,000 0 ,000 0 500 1,000 4,500 0
EjH/\ﬂ
Al 2 2 I 6,000 0 ,000 0 500 1,000 4,500 0
3l 3,500 0 ,500 0 0 0 0 3,500
UE1S Metel&~stalof
e C2ga T = 3.500 0 .500 0 0 0 0 3,500
A2 3ol 3,500 0 ,500 0 0 0 0 3,500
3 6,800 4,460 .340 0 0 0 0 2,340
ol 2 6,800 4,460 ,340 0 0 0 0 2,340
2HE 2Hz ALY HO oo o
A pAETZ A 228 x3 930 930 0 0 0 0 0 0




Al E I 1,530 1,530 0 0 0 0 0 0 0
Al 2 F 4l 4,340 2,000 2,340 0 0 0 0 2,340 0
Hl 3,000 1,000 2,000 0 0 0 0 2,000 0
WNELES AMolz=sstn ¢
i';_lin/é ot - XH et 3,000 1,000 2,000 0 0 0 0 2,000 0
Al &2 7 bl 3,000 1,000 2,000 0 0 0 0 2,000 0
Hl 14,400 2,000 12,400 500 500 ,200 4,000 4,200 0
A - AEZC 225 (9 2 14,400 2,000 12,400 500 500 ,200 4,000 4,200 0
£ A
Al &= Hl 14,400 2,000 12,400 500 500 ,200 4,000 4,200 0
Hl 3,400 100 3,300 100 800 800 800 800 0
2&8s iz &% 9| 2 3,400 100 3,300 100 800 800 800 800 0
Al &= Hl 3,400 100 3,300 100 800 800 800 800 0
Hl 6,000 6,000 0 0 0 0 0 0 0
9| £ 6,000 6,000 0 0 0 0 0 0 0
A2 RXIME (S LA
HE X2 AR |22 x2 2,000 2,000 0 0 0 0 0 0 0
Ab)
2EEX2 2,000 2,000 0 0 0 0 0 0 0
Al &=l 2,000 2,000 0 0 0 0 0 0 0
Hl 6,800 100 6,700 0 600 ,500 3,200 1,400 0
9| £ 6,800 100 6,700 0 600 ,500 3,200 1,400 0
elosw AX
Al = Hl 3,800 100 3,700 0 500 500 2,200 500 0
Al &2 7 Hl 3,000 0 3,000 0 100 ,000 1,000 900 0
Hl 6,600 5,950 0 0 0 0 0 0 650




URIE FBo-E=() 9| = 6,600 5,950 0 0 0 0 0 0 650
s EEE A & HI 4,100 4,100 0 0 0 0 0 0 0
Al =2 ] 2,500 1,850 0 0 0 0 0 0 650
2,500 1,400 ,100 100 100 100 700 100 0

st =g 3z =
& XH e 2,500 1,400 ,100 100 100 100 700 100 0
;f:g d8d =2 A Al 2 ] 2,500 1,400 ,100 100 100 100 700 100 0
5,800 0 ,800 100 500 500 ,500 ,200 0
gg—é_gﬂgg;}i%ow\lm 9| £ 5,800 0 ,800 100 500 500 ,500 ,200 0
Al & ] 5,800 0 ,800 100 500 500 ,500 ,200 0
8,000 2,000 ,000 400 400 900 ,300 0 0
OIS MolS2D-22 XH = 8,000 2,000 ,000 400 400 900 ,300 0 0
242 ==Hd A&l 6,000 2,000 ,000 400 400 400 ,800 0 0
Al & ] 2,000 0 ,000 0 0 500 ,500 0 0
CEZANEE 2 22,150 3,600 ,550 ,630 4,230 4,230 ,630 ,830 0
13,500 3,600 ,900 ,000 2,600 2,600 ,000 ,700 0
C2AE=E Ul & B (W =3 13,500 3,600 ,900 ,000 2,600 2,600 ,000 ,700 0
Al 2 Bl 13,500 3,600 ,900 ,000 2,600 2,600 ,000 ,700 0
8,650 0 ,650 ,630 1,630 1,630 ,630 , 130 0
SEFH 2 22 XH e 8,650 0 ,650 ,630 1,630 1,630 ,630 ,130 0
Al =2 ] 8,650 0 ,650 ,630 1,630 1,630 ,630 , 130 0
=FSIIt 41,182 13,210 27,972 ,289 5,559 4,719 4,719 4,686 0




41,182 13,210 27,972 8,289 5,559 4,719 4,719 4,686
30,620 13,210 17,410 6,170 3,440 2,600 2,600 2,600
Al 13,000 0 13,000 2,600 2,600 2,600 2,600 2,600
9 f 13,000 0 13,000 2,600 2,600 2,600 2,600 2,600
TYFNY BE L UK
Al &l 10,000 0 10,000 2,000 2,000 2,000 2,000 2,000
e | 3,000 0 3,000 600 600 600 600 600
Al 3,950 3,950 0 0 0 0 0 0
SiCHSOIR = D=7 9| £ 3,950 3,950 0 0 0 0 0 0
& x4
Al &l 1,750 1,750 0 0 0 0 0 0
Al 2+ Hl 2,200 2,200 0 0 0 0 0 0
Al 8,370 8,370 0 0 0 0 0 0
SIMIE L9 Do = TR Q| 2 8,370 8,370 0 0 0 0 0 0
e
Al &l 3,000 3,000 0 0 0 0 0 0
A2 = odl 5,370 5,370 0 0 0 0 0 0
Al 2,500 830 1,670 1,670 0 0 0 0
XH E 2,500 830 1,670 1,670 0 0 0 0
SolS MY XSHBYFEX _
X XA Z2sex3 1,250 0 1,250 1,250 0 0 0 0
Al &l 500 80 420 420 0 0 0 0
Al =2 4l 750 750 0 0 0 0 0 0
niESkeE= igggx_ ol-
;lz = | =X Al 2,800 60 2,740 1,900 840 0 0 0
XH E 2,800 60 2,740 1,900 840 0 0 0




WRHIE L QDo =TiE s g2 X2 1,400 0 1,400 800 600 0 0 0
N
Al &l 560 0 560 320 240 0 0 0
A2 2l 840 60 780 780 0 0 0 0
SEFINE 29 5,032 0 5,032 1,013 ,013 1,013 1,013 980
H 3,282 0 3,282 663 663 663 663 630
SYFXHE 2 TH g 3,282 0 3,282 663 663 663 663 630
A2 2ol 3,282 0 3,282 663 663 663 663 630
H 1,750 0 1,750 350 350 350 350 350
F=HA HEF=IE 29 H i 1,750 0 1,750 350 350 350 350 350
NI | 1,750 0 1,750 350 350 350 350 350
nEAE N 5,530 0 5,530 1,106 ,106 1,106 1,106 ,106
H 2,820 0 2,820 564 564 564 564 564
WESHHAIEES HH| TH 2 2,820 0 2,820 564 564 564 564 564
NI | 2,820 0 2,820 564 564 564 564 564
H 2,710 0 2,710 542 542 542 542 542
Su = . MH o 9 =] 2,710 0 2,710 542 542 542 542 542
NI | 2,710 0 2,710 542 542 542 542 542
ZELX Y 35,864 4,680 31,184 9,436 ,537 5,537 5,737 ,937
pNRe-L= =P 35,864 4,680 31,184 9,436 ,537 5,537 5,737 ,937
FEAL L 29 4,430 0 4,430 886 886 886 886 886
A=Y 2,500 0 2,500 500 500 500 500 500




i 2,500 0 2,500 500 500 500 500 500
= ST YA of 2 2,500 0 2,500 500 500 500 500 500
AT 2,500 0 2,500 500 500 500 500 500
EHEZ WAL 1,930 0 1,980 386 386 386 386 386
5 20 0 20 4 4 4 4 4
=HEH WAL T ot 20 0 20 4 4 4 4 4
A2 7 20 0 20 4 4 4 4 4
31 1,910 0 1,910 382 382 382 382 382
ofl bl bl 0 2 1,910 0 1,910 382 382 382 382 382
R 1,910 0 1,910 382 382 382 382 382
SMEACA XA 27,024 3,620 23,404 800 3,501 4,501 4,701 4,901
A= DA XA 14,424 3,620 10,804 800 1,501 2,501 2,501 2,501
5 7,504 0 7,504 500 1,501 1,501 1,501 1,501

=3 ¥ RIX 2
o o 7,504 0 7,504 500 1,501 1,501 1,501 1,501
Al &= Hl 575 0 575 115 115 115 115 115

ze o AN 22
N 6,929 0 6,929 385 1,386 1,386 1,386 1,386
i 3,920 3,620 300 300 0 0 0 0
of = 3,920 3,620 300 300 0 0 0 0
ZDWH% gFsE E Lo Lxa 300 300 0 0 0 0 0 0
AT 300 0 300 300 0 0 0 0
A2 T 3,320 3,320 0 0 0 0 0 0




Al 3,000 0 3,000 0 0 1,000 1,000 1,000

Z_EEQIMQ(%% S) = XH e 3,000 0 3,000 0 0 1,000 1,000 1,000

Al = 7 dl 3,000 0 3,000 0 0 1,000 1,000 1,000

MEZ2t =3t 12,600 0 12,600 4,000 2,000 2,000 2,200 2,400

Al 9,600 0 9,600 1,000 2,000 2,000 2,200 2,400

2= & ot =X 22l | E 9,600 0 9,600 1,000 2,000 2,000 2,200 2,400

Al = 7 dl 9,600 0 9,600 1,000 2,000 2,000 2,200 2,400

Al 3,000 0 3,000 3,000 0 0 0 0

9| = 3,000 0 3,000 3,000 0 0 0 0

OIAIRIAL Xt See 2SS 2102 x3 1,500 0 1,500 1,500 0 0 0 0

Al & Hl 750 0 750 750 0 0 0 0

OIMIEH X XtEH= LA (A2 2 4 750 0 750 750 0 0 0 0

SAIEHI 3,560 1,060 2,500 2,500 0 0 0 0

SADIBAIE & E 3,560 1,060 2,500 2,500 0 0 0 0

Al 3,560 1,060 2,500 2,500 0 0 0 0

XH E 3,560 1,060 2,500 2,500 0 0 0 0

%FE%;EDH& 24 3¢ 2102 x3 800 0 800 800 0 0 0 0
3 (As) =4

A&l 1,300 0 1,300 1,300 0 0 0 0

Al =2 4l 1,460 1,060 400 400 0 0 0 0

Z0= ENEE 850 0 850 250 150 150 150 150

2= 22 850 0 850 250 150 150 150 150
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